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UPpose you started workin 0 :
E dllcﬂma and take decision Tt g on a Startup. You have realized you need to solve some
4) | Explain (ap S R e o o
& Profi la(l)i1i>; y2) Principles of Hedging, Principles of Diversity or Principles of Liquidity u
¢b) Expl;i; Inve P PR
fruads Etitmcnt Decision From Managerial Function of Financial Manager. Draw an
ty balance sheet to show the Components. 3]
2. . 3
| Plot: suppose one of you relatives is aski

ng for advice. Here are some questions that are asked to you (Total-5)

a) | Between Pro
nd Wealth Maximization which one 1s better?

fit Maximization 2

s 12]
b) | Build an areument . e
. Company sument (describe) how agency problem can create a Funding Problem in a “ CLO-3

ol Level-5
.. 10W 2 Distinguishing facts between of Internal Funds and external fund

3. | Solve Time Value of M
oney Problem (Total-13) --

a [rf: l :
) itr]tz;n tre;e;nved QSD 6050 for an investment that was held for 12 years at 18% Simple | [2]
rest. Iind the interest amount and the Present value CLO-4

Level- 5

b)

Compute the Simple interest on Tk. 38500 for 7 months at 15 % % % i3 2]

o G vy Uture Valie cfobe b —————————
Option 1: Find the Future Value of the following cash flow stream given that the interest | [4]

rate 1s 18% compounded annually at the end of the period In 4 years
Annual payment Number |

Payment Amount

B —
e ——

Option 2: The Present value of another option is $15000.

| L Which option is the best for investment? Why?

e ———

—
e ———

| 4) | You sold Land to John Cina. he gave you 3 optgns. and the interest is 15,25% | [5]

semi-annual compounded.
x) 1000OQ now.

y) Each year 20,000 for next § years
z) 2,40,000 at the end of § years.
Which one will you take? why?
o = 2
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Reference of equation 1o be used as per your need -
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